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for lT lpdustry

.:,
,r;ru*Nlax. Marks: 100

mg cltoosing ONE JuU question from each moclule.

.:.4i.. iSi'' _,''. r,.. Nlodule-l
I a. Define Management. Explain th" fun"tio* o?i-,anagement.I a. Define Management. Explain the functions of management. (10 Marks)

b. Discuss in detail levels of management. (05 Marks)

c. Explain any trvo rnodern filanagement approaches. (05 Marks)

OR
2 a" Define planning'/ Explarn types of pians. (0? Marks)

b. Explain the steps involvccl rn Decision-making with neat cliagram. (06 Marks)

c. Explain types of organizations in detail with advantage s and disadvantages. (07 Marks)

Module-3
5 a. Define Entrepreneur" Explain classification of Entrepreneur. (08 Marks)

b. Diflerentiate Entrepreneur and Manager. (06 Markst

c. Briefly explain the stages c reneurial process.process. (06 Marks)

Fifth Semester B.E. Degree Examination,
Management and Entrepreneurship

3 a. List out the diflbrences between recruitment and selectton. (05 Marks)

b. Explain selection proccdure rn detail. ( l0 Markrt
c. What is leadership'l Explain various styles of leadership. (05 Marks)

4 a. Explain any two motivation theones" (10 Marks)

b. Describe communication process and its impofiance. (05 Marks)
(05 Marks)

OR
a. What are the barriers faced by Entrepreneurc to start an enterprise. (05 Marks)

b. Distinguish between lntrapreneur and Entrepreneur. (05 Marks)

c. Explain the different types of feasibility study in identification of Business opportr,l,r,tirt;r*,,

Module-4
a" Define Project. Explain Project classification,
b. Explain in detail the contents of Project Report.
c. Dlscuss Project ldentification and Selectioir.

OR
a. Define ERP. Discuss functional areas of management with neat diagram.

b" Discuss th_e steps involved in report writing.
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(08 Marks)

(12 Marks)

(10 Marks)

(10 Marks)

9a.
b.

10 a.

b.

'i'Module-S -.fr.t 
''

Explain characteristics and advantages ofmicro and small enterprises.
Explain the following : : ;'! "?rrilr

(ii) SIDBI '', 1r1 ;"'r1' 
'

(iii) KIADB ,,".,'i:. 'r

.,, t"'' lt:''l' OR ,

Define IPR. Explain in derail the main fomrs of Lrtellectual Property Rights?
Write case study on : . ,..'(i) N. R. Narayana Murlhy

,,..,,n;,',,t;,t * rl x ,< {<

:.,..":':: ;;..,,,,.i* "'
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Time: 3 hrs.

Note: Answer nny FIYE full questions,

1 a" Compare client-server and peer-to-peer architecture"
b" What are the different t)?es of transport services provided by the internet?
c. With a general format, expl; HTTP Request and HTTP Response messages"

r I i i I r r r r 
._'L;

Fifth Semester B.E. Degree ExamingSgh, Lug./Sept.2020
Gomputer Networks

eW

OR
2 a. Explain FTP commands and replies.

b. What are the services provided by DNS?
c. Write a short note on :

r) Web caching
ii) sMTp

OR
a. With a neat diagram, explain TCP segment structure and rts fields.
b. Explain the way handshake and closing a TCP connection.
c. Define the following :

i) Multiplexing
ii) Demultiplexing
ii1 rep i

iv) UDP
'':'': 

t' .,... '

a. List and explain three switching techniques with aneat diagram"
b. With the help of FSM, describe the sender side and receiver side of rdt 2.0.

usNi liiliil-fI

OR
Write the algorithm for the foilowing :

i) Link-srate
ii) Drstance vecior.

ii) SMTP

a. Explain UDP segment structure.
b. With the help of FSM, describe the sender side and receiver side of rdt 2.0.
c. Explain Selective Repeat Protocol.

17Cti52

i0u

(06 l{arks)
(08 N{rrlis)
(06 N{ari;s)

(0tl Nlarirs)

{04 Nlariis)

(0ti N'larirs)

(06 !{arirs)
(08 ![arir;)
(06 N{.tr'lis)

(08 i\lariis)
(0tt !lar'us)

(04 !lariri)

(10 r\'lari;s)
(10 [i.rnrs)

i08 Nlarirs)

(12 N{arlrs)

6a.

b. Write a short
i)
iil Muiticast

iAL&!trirt
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(08 Marks)
(12 Marks)

Ilodule-4
-l zt. Explain 3G systern architecture"

b. lrxplain the two different routing approaches to mobile node"

OR

t a Define hancloff. List the steps involved when a base station cloes decide to handoff a rnobile

user. (10 Marks)

ir. Write a short note on :

i) Agent discovery rn rnobile IP

ir) Registration wiih the home agent in mobile lP. (10 Marks)

Module-S
9 a. List and explain the types of ,rrlti*.-l-Lu *-king application. (10 Marks)

h Brrefly explain the following .

r) RTP
ii) SIP (lo Marks)

OR
l0 Write a short note on:

a. FIFO scheduling mechanism
h I'}riority queueing scheduling mechanisnt

c" Round robin and weighted fair queuing scheduiing mechanism. (20 Marks)
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Fifth Semester B.li. I)egr ee [i]ran:iiraiio:r. Atrg./Sept.2020
Data Base iLleru.: firg€I"flr.*,"i ; Ssrstqlms

Time: 3 hrs. Max. Marks: l(10

Note: Answer ony FIVE fitll questiutrs, t'lr()osins {t t E lful! questian.from each module"
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With a neat diagram, expialrr tlre corrrl;onertts tloclrrlcs

. Explain the main characlcrislics ol' Llre clatal::rse

appr<lach.
. Define the fbllowing with e.xaniple :

i) Vaiue set ii) Data nurclol iii) Metachlrr

{)il.

Define the followings :

i) Relation state ii) Dorrrairr

ol'I)tlMS and their tnteractions.
(08 N'lr;rl:.)

a1r1-lroach versLls the file procc:;sirg
(08 Nl;irt .;)

(04 N'l:irhr)

(10 NI:.,r1 r,)

an exallrlli,.l.
(06 \'tr, rl:.)

(04 \l ::r'l::;)

iv) Database

3a"

2 a. List the advantages and drr;aclr,llntagcs ol'DIlN,'1:j rii:ir-rLr:iS irrry fir,c aclvantages by cotnp:irilg
with flle system. (08ll:,rl',)

b. What are the structural consIrairrls on l r.clutionshrt: tvpe'l ]:xplairr r,r'ith an example.
(06 N'l:,r"1.:r)

c. Write a short note on Spce nii:,lrtron ard Ce nenrlizlilic,n. rviLh an cxar-trple for each.(oo N'l:rrli:;)

$_grtli.rle-2
Consider the following sclle nt0 anrl tr rt,: lite rel;rliortiLl iilgebrtt .

Sailors (S_tD " Sname. Ratins. Age)
BOATS (BlD. Bnarne. Color)
RESERVE (SID. BID. Drry)
i) Retrieve the sailors naurc 'uvho havo lcservecl r'.:ti arrtl g"rcen boltts.

ii) Retrieve the sailors nanrc with agc o\/cr'20 yerris ancl reset'ved black boat.
iii) Retrieve the sailors nanir^ii'ho huvc reserveci 9.1'i-:eLr Lri:ttt on Nlunday.
iv) Retrieve the number oI holrls wltii'tt i.lrc not t-]:-':'., cl.

v) Retrieve the sailors nanrcs wlto is tlte oidest slrrlor willr raiing 10.

tr-ist Set theory operations. useri in tclritronal dalrr rirociel. [:xplain any two with

iii) ltelation schelna ir,) At-ity.

OR
a. Discuss the various types of .IOIN operations rvith iirt cxample" Why is THETA jr,rn

required? (06 Nl:rrli:r)

b. Describe the steps of an algorithm for 1rl{ - to l(clational nrapping. (10 Nl'rr"l.r)

c. Describe any two charactr-'r'istics of rclll iorrs w'itir :;Lriteblc exarnplc lor each" (04 NIiirl',:)

a" How is view created and ciloopecl'/ ,,};lffirffir):., r'0 itssociaiecl ri,ith updating views'.'
(08 \'l :r rL :;)

b. Consider the schema for ( OMIjANY dllitbasc
EMPLOYEE (SSN, Namc. Aciclress, Scx" [ialar';'. ijLLpcrllS)'i" DNo)
DEPARTMENT (DNo. Dnltnc, MgrSSN, MglStar{ Di,tc)
DLOCATION (DNo, DLo';)
PROJECT (PNo. PName, ['l-ocatiotr. DNo)
WORK__ON (SSN, PNo " i:lour:s)
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Write the SQL qLteries to :

i) Make a list o{'allpro.ject rrrrnrbcrs Icr pt'oject:; thal involve as employee whose last name

is'Scott'" cither as a ivurkcr ol'as .l irllragel'of-tlte department that controls the project.

ii) Show the rcsultisg salai'icli il'cvcnr cr-nlrioyee rvorl<ing on the 'IOT' project is given a

l0% raise.
iii) Find the sun oIsalalir:s rtl'rll Elrpl(]\ccs ol- tlrc 'accounts' departments as well as the

rnaximunt salary. tite ntiniinlrnt salat-t'itt.'d tlrr: rt\('tirge salary rn this department.

iv) Retrieve tltc ltailtL' ol'i:iti:lr [-r.n1-,lt,r ( r] \\'h,) 'votl<s on allthe projects controlled by

departmcrlt tttlllrtrr:i'li (1rst NO"l l;XlS i S OllL:t'aittr)

v) Foi each rlcltitrtment llrai irli:s utorc tlrair Iive i:n1.1,rvees. retneve the department number

and the nrrtl].te1 of its I;11t.ti111,9s 11rl1n ar'(:t l11ltl(illg tnttre than Rs 6,00,000. (12 Marks)

i )li
6 a Detne Storeci I,rocedrrri:. l':r.t'riirin tlre clcrttilr:. anil callittg o1'stored procedure with suitable

(08 Marks)exarnple.

tr. Explain three - Licr archilr:clrr i:^ rvilh a trtt;l rliagraln. (04 Marks)

c. Consider the sci-rema f,rr lil'l,ll)l1N I dllrrhasrr.

STUDENTS (SID, $1;1rlc. lvllir;t. (ll'A)
FACULTY (I-tl), Frtarlrc. [)cf{. I)cstgttatiorl. Salal.r')

COURSE (C1t). Cin;-rnre , irll))
ENROr (CID. 51D. (ili.r\D1:)
Write the follou'irlg qLrory is S(.11. .

1) Give a 159i, raise 1tl salat'',' of iill fircrr]tv^

2) I-ist all thc dcparrnrcrrt:i h;rr,irrg an avcra.se siilary of above Rs 20,000.

3) List the t1?1nlcs o1'all laculi.r, rlembcrs bcginrting tt,ith 'R' and ending with letter "U".
4) I-ist the nantes of slLrclcnt:i rlnlolirrr-l frrr the cl)rusc 'GS - 53' and have received 'A'

grade.

7 a. Explain informal design g.ui,Joiittcs t####cltcnres 
,

b. What is ihe need loL nonnalizalion'/ Eirplairr 1",2''",3''d normal

(08 Marks)

(06 Marks)

forms, with an examples.
(14 Marks)

(06 Marks)

iNtO BCNF.
(08 Marks)
(06 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

r ) lr

8 a. Find the mlnllll;ri c()vcl'r,l'l I\.
E: iB -+A, I) -,{. Al} -' i)}.

b. ConsiderR(A, Il, C, D)r,r,'ith lrl) - iA , [i " B -'C, C---+D].
i) Find the kc1 I i t lrrclir:.rtt: I lre higlrcsl normal l'bnn and convert the relation

c^ Write an algorithrn to llnri the closure of 'X' and 'F'.

Lledu!e-5
9 a. Explain the desirablc propertit:s o f a trirnsaclions,

b. Explain with a neat diagranr, tJrc )tate tralnsition cliiLg'am for a transaction.

c. What is two phrtsc lociiirtg? [)csr:rtbe lvith the help o1'an example.

{l l{
10 a. Why concuffencv conlrol is rr,:rrrlccl de rnoirslLatc q,ith crample? (10 Marks)

b. When deadlocli iinil stu:'r.,lrtion problclns ()ccurs'7 llxplain how these problems can be

resolved'i (10 Marks)
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Automata Theory & Computatility
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Note: Answer any FIVE full questions, cho.aslngbun 1ru question frprn eaclr morlttle.
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(ur) set of all strings::with exactry three conse.rt-iu" u"r.
construct rhe NDFi r"J.r f";;ffi;;;; ;;-r*, 

r v., 
'1 
s' 10e Nlarks)

L = 10 e {a. b}* : or = ao-d''irr lcolis eren} :i" -

!l-= iro:thereisasynbola, €Inorappearinrincolwherel={u,b,c,dl (05Nlarks)
. lr:

:. OR:. OR2 a- convert the'foll0wing e *NFA to ora tnef, Fig. Q2 (a)) (08 Marks)
r--':f) /\\ 

'\L
(-\u t .\ ^ Ln-

I a. Defrne DFA. What are the dib construct,h; ;;l fr:,H ['i,ffi:ftf;::::# g =Titl
(i) Set of all strings ending with a and b. :

en DFA and NFA? .i (06 Nrarks)

( ii) Set of all strings rrot containing the substring ..aab.,
(iii) Set of all stri

b. Minimize the follow mata: (Ref. Fi
+nituY::+t'+:

s]r
(08 Marks)

C"

3a.

b.

,^ \,, . ,,+,

" . - 
"t"-*''ll:

, .,q i::
!'.. - .' 1'Le i-_Y

,i,:, ::rr r Fig, Q2 (b)
Diifbrent between Mealy pachine and rur"Ja *riliine wittr example. (04 Nrarks)

Module_2IYT{,tIlItC_Z
Dcllnc Regular expression. convert th. fbll""*g automation to a regular expression.

(0g NIarks)

Fig, Q3 (a) 
i

c'orrstruct the NFA for the fbllorving regular expression 9i4" (o* r)
State and prove the pumping lentma for regular.languages.

(04 )Iarks)

(08 NIarks)

,. c

C.

1 of 3
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5 a. 
?.,r?-.- 

RegularCrammar? Write CFC fb. rh. Ibllowing languages:
L=i0"1', ln>l,|| \t - t)

L = I srrings of a's and b's withequal no. of a.s and b,si
Dcllne ambiguous grammar and show that roilowing expressio.h^ ^r*i-,, :J , :r * i r rr/ :,

Module-47 a. State and proverrhe pumping tr',.or.fr6ZilGxr Free Languages.
Shorv that L : )pob,c, 

I n > 0) is not content fi-ee.

b, De.ne ,,"6ig,oi';;;;;;6iil,"iil;ii,i'.,1i,.,;ion grammar ii a.rbigi:;:ffii
the string id + id * id . wlite equivaient unambiguo,rl gu**ur for the same?
Cramrnar

E+E+E
E -+E-E
E-+E*E
E -+ E/E '

(05 N,Iarks)
E, --+ it| .' 

,,,,.c. Define PDA. obtain a pDA to accept the following ranguage:
L={n,(.'0)=no(r,:)wheren>l} ' a'--"a "Q-'

Drarv the transition diagram fo: PDA Also show the moves made by.{he pDA for the string"aabbab".
(10 NIarks)

a. Obtain rhe lollowing grammar in CNF 
""

S -+ ABC
A-+aC/D
ti-+bBlEtA
C+AclElCc :''
D-+aa

b' Define inherentlv 
llbisuous 

tunlrug. with example. l;:ff:[]c. Lct C bc thc grarrrmar.
S -r aB/ bA

B-+b/bS/;BB
For the string aaabbabbba find

t it Left most derivation.
tiit Right mosr derivation.
(iii) Parse tree. 

(06 t{arks)

17CS54

(12 Marks)
and explain with ,eat diagram, the working of a basic turing

(0t1I,tarks)

OR4 a. Show that L = b' In is prime) is not regular? ,-, (06 N{arks)b' State and prove that-regular languages are closed under.o" l.*.rt, intersection diffbrence
reverse and letter substitution 1,,^:'-"":''

c- write the regular .rpr.rrion for the forowing languages: 
(08 Marks)

L 10"b"' Im+niseven}
L: {u"b' lm > l,n > l nm > 3} ,i ,,. ,,r.,,,,,, (06 }Iarks)

b. Define Turi

? ^f ?
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,, 
tt+

oR .r:r,,, -i,8 rr' Dc:igrr a TM to accept {0nl''2'''n > l} and show the moves made by r6c rnachine for th,.,

. stri,g 000111222? , 
| . ,,;""' 

'' 
(r0 Marks)b. l)e scribe in detail decidable languages. tt 
(05 N,Iarks)(" tJrlelly explam the technique fbr Turing machine_.ConStruction? (05 Nlarks)

,r., , ,,,::, ,

9 a. Explain the following: ,,. 
:,, ,i:

(i) Non deterministic Turing frAaliiinb
/;i\ [,,t,.1+i+o-o 'I-,,-;-^ l\ zf ^^Li-;r,. 

;(ii) Multitape Turing Machin€...-, ' ., (10 N{arks)b. l)iscuss the following: 
..,'",,,^(i) Recersivelyenumerablelanguage.

(ii) Post correspondence problem. (10 Nlarks)

OR
l0 Write short note on the following:

a. Quantum computer.
b Class NP.
c. Church ruringrftresii- 

.:, ,.'.,, 
'',

d. Modelof li
c, I'lalting problem of Turing Machine. (20lrarks)

c- Briefly explain the technique for Turing machi

,r.i i
automation. 'ii,,,

- :+,7
,,, ?. 

i r"*_'6

"tas .u """' ,{ ' 
"-+ "* -.;'r-,... @'r +e'4'8rc:

'%"* & "r* "?
_i&.i: fu*e. 

* d
s' ,& &r' Ja.r* { FB,* ,fu&[*& e *l .$ *"_/

l: 
Y]-- 

,9-. 'E s "%hMem* ,.o fu -ry
Y *.'44 " *.

s+,#rqs d*"1hr 
" 

fuffi
"?.r.= 

..-t 
"1 .6!

j,!rl,&,:xl++i &ip.ru.+.

,: *q:s. 'il "s'
-dq%.t+i:.' "",r-.: i. "k-+"iil.d"

d..e^d 
* 4#fs,;ryb B

,,%'* .*'

*-'4& * '#
*s,*h,r

"4:-;;::i.:::a:r-1"
..'|,

@-: qr'
'ii.,k!f,&'jhe
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Max. Marks: 100

(06 Marks)

a Java cocle i) Override ii) Inherited
(Ott IIarks)

Fitth Semester B.E. Degree Examination, Aug./Sept. 2020
Advanced Java and JZEE

1 a.

h.

U
O
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a
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a
E

C

'l'irne: 3 hrs.

Ll.

2a.

Notc: ,4nswer ony FIV'E f tll questiorts, choositrg ONE./hll question Jt'om euclt module.

Nloclule-l

Compare ancl contrast auto boring and unboxin,q in .la\,a with an exarrple . (06 N{arks)

ULrilcl a.lava 1:rogralr to create all elrlllreration class ol-seasons iincl delnonstrate usage of
varlues ( ) and valucOl'( ) mcthods. (0tt Marks)

\\lhat is nn Annotrition'l l:xltlairt various retention policies for arLnotation in Java. (06 Marks)

Explain thc lirllou,ing rlethocls ofl.java.,,l1ft,,nr.,ro with ar-r eramplc

') Ordinal ( )
ii) corrrpareTt'r ( )

iii) eclLrals ( )

b. What clo voLr mean by'l'y,pe Wrappcr'l I:rplain numcric typc \\lrapper i.i,ilh an cxample.
(06 NIarks)

3a.
b

c I:xplain the lbllorving Built-in Annotations ri'ith
iii) ltetention.

Nlodule-2
What is collection fiantcwork'/ Explain any four methods defined by the collection interface.

(10 i\larks)
Dellne 1c-gacy cl:rss - r,ector rvith syntar clce laration and clemonstrate various vector
opcrations. (06 Marks)

c. Explain thc constructors ol'lreeSct rvith erample. (04 Marks)

OR
a. Create a class EMPLOYEE with two privatc string mcmbers: enrployee_id,

e mployee_Narne. Using Linkedlist class, develoD a Java program to add atleast 3 objects of
abovc EMPLOYEE class and display thc data in ncat flort-nat. (08 Marks)

b. l)emonstrate Arraylist class fbr collection with an erample. (06 N'larks)

c. Write the syntax declaration of Qr.reLre interfhcc and explain any fcrLrr methocls defincd by

5a.
b.

Qucue . (06 Marks)

Module-3
Del'inc String. Explain the clifi'erent ways constrLrctir.tg string object. (06 Nlarks)

Explain ancl mal<e usc o1'the fbllowing string handling n-rethods to rrtodify a string.

i) substring ( )
ii) concat ( )

iii) replace ( )
iv) trirn ( ) (08 N{arks)

c. Dcvc-lop a.lava program to count the occurrence of character in a given string. (06 N{arl<s)

1 of2
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OR

6 a. Diflerentiate hctr,vecn string and stnng Buffer explain reverse (

with an exatnple.
b. Explain thc fbl[or,ving charactcr extraction tllethocls : i) charAt( )

17CS553

) rnethocl o{' stringBr-rffi:r
(0U IIarks)

ir) to charArry( ) .

(06 Marks)
(06 Marks)

(06 llarks)

(I0 i\Iarhs)
(06 IIarks)
(0,1 NI arks)

c. lixplain insert ( ) anci appenci ( ) stringl]irflcr nit:thocls lvi1h an exalrplc.

b

8a.
b

9a
b

C.

10 a.

Nlodule-4
Uxplain the liI'e cycle of et servlet. (04 Nlarks)

Wiite a.lava Sen,let progralr to accellt trvo 1l;imntcters liotl-l weblrage. llnd thc sutr of thctn

ancl clisplay the resr-rlt in n,ebpagc Also e.ive necessilrlr f11n 1scrrtrlt to crcatc web pagt 
]larks)

c. l-rxplain hor,r, cookies can be handled usitlg setvlets.

otl
Def-tne .lSP. E,xplail the clil'l-creltt types o1'.TSP tags b.v talttng sr-ritable crample. (10 '\Iarks)

What are Coohies'l Tlorv C'ookies are hartdled in .TSP? Write ur pl-ogranr crcatc r,vith nanle

"[isernarne" and Cookie valuc "abc". Also displav storec] Clool<ie irl rvebpage' (10]tarks)

Module-5
1rrplain the clilferent step involved inJDllC process u'ith a cocle snippet. (0tt Nlarks)

Explain thc ibr-rr 11,pcs of JDIIC drivers. (08 Ntarks)

List anci explain thc thrce kinrls olcxccptions occurred inJDBC. (04 }Iarks)

OR
Write a progralr to connect to databasc with fbllolving infbrnretiotr:

Driver : JDBC/ODBCI briclge

URL : 'Jdbc.otibc:Ex"
Llsername " "xy7"
passward : "123"
Retrievc all rows with marks > 60.

Assume the fbllowing table :

l'able Natne : STUDENT
Fields : USN Varchar (20), Marks-int. Namc-Varchar (25)

b. Explain the ciifferent typcs of statemertt ob.iect r'r'itlt cxamplc.

c. Discuss the Scrollable ResLrlt sct irr .lDBC.

:F*'k*"
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l\,{ax. Marks: 100

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Iritth Semester B.E, Degree Examination, Aug.iSept.2020
Artificial lntelligence

..:

-
3
a
a
'a

a

al)'-

; \r)

at)

.E -r
7, ',t,

it=

a>

-t

a:a-*
a.)

ii=
a,

';?
?.
li:

2, /,
t:,
a?-:-r?
;: .*
7a
,;5
?aa<a)

=P!c
a:' ^>1;
,,, 1
C a[)'ac
a :=-:5
-t
7a)

=i'o{
.- c..l

.)
a,/,

E

a1
-:

Notr.:.,ln,rrr)ar nn),['{t/E lfult qucstiotts, t'ltort.'ittg 0\'E full qn(s{ion-frot,t eil(h tflodule.

i\{oclulc-l

1 a. Solr,c thc lbllou,ing cr!'plrilhiraiic prtblcnr DON,.\LD t (;l:l{,'\LD - ROI}llR'l'.

lr. I)c\r'l()P ,\()' rrlgtrl'itlrur lirr' \l lt1'''Iticlli,,rt-.

oI{
2 a. Solvc u,atcr'.jLrg problcnl Llsing ltrticlitction rlllc systcm.

b. l':.r.plain ploblcnr characteristtcs u'ith rcspect to ltcuristic scitrclt.

It-q0.rlr:-l
3 a. C'r-rnsidcr thc lblloiving set of \\,cli fbnrccl lolnrLtlas in prctlicate logic :

i r Nlirrt ( Virt'eLts )

ii) Pornpeian (VIarcr"rs)

iii) Vx: Pottrl-rcian (.r.) --', Rotnan (x)
ir ) Rrrie r' 1('lrcsrrr'1
r') Vr : Rou-titn (x) - lrvalto (x. f'acsar') V hatc (r. C'acsar)

'l'iurc: i hrs.

vi) Vr : y loyalto (r. y)

vii) : Vrr :Vy : Man (x)nRuler(y) ntlyassassiltiite (x. y) --'+loyatto (x, y)

viii) Tr-yassassilrate (M arcLrs, Caesar)
b. Writc tlic propositional Rcrsolr-rtion algorithm.

OR
4 ii. Writc the algol-ithnr lbr convcrsion to clause lbrnt.

b. Distinguish fotl'ar-ci ancl bacl<r,r,ttrd reasottittg u,itlt att cxatrllle.

N{otlulc-3
a. Ploposc inrplenrentation o1'DFS ancl LIFS in thc contert o1't'casotling.

b. Ilxplarn [3ayesian Nelrvorl<s.

oll
a. Frplain cefiainitv fnctors and nrle basccl systeur in statistical reasonittg.

b. Explain propcrty inheritancc algoritl-rn-r for liarr-cs.

Module-4
ir, I'rplrrin CYC.
b. l-.rpl:rin concelttrrtrl Dc-penclcncy along li,ith its gctals attd reltresctttatitttr.

OR
a" \\,'ritc thc algolithnr fbr nrinimax (position. dcptit. playcrs) and erplaitl'
b. Write a notc ou global onblogv.

N'Iotltrlc-5
il. [rrplrit-r spell checkitrg tcchniclttc.

b. Erplain Winstott's lclrrning progratl.

oR
il. Explain lhe Augtle ntccl 

-lransition Nctrvclrl< u'itl-r an exeinlplc.

b. Lx;llain three t_vpes of auton-ratcd discover-v svstclt.ls in tltc context ol'1caming.

(10 )Iarks)
(10 Nlartrs)

(10 Illrks)
(10 \{arks)

(10 NIarks)
(10 NIarks)

(10 Ntarks)

(10 NIarhs)

(10 \{arks)
(10 i\Iarks)

( 10 \l a rks)
(10 \Iarks)

(10 NIarl<s)

( l0 VIarks)

(10 N'Iarks)

(10 NIarks)
10

rtGM)@
9C\bU
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Fifth Semester B-E. Degree Examination, Aug./Sep L2A20Dot net Framew.,rk for ari.irti'eation 
"E""i'"-entTime: 3 hrs. '. ' -r.- 

t'
. l',',,., ' Mu". Marks: 100

Note: Answer any FIVE frtll questioni, e haosing oNE fttll question ft ont eac:h module.

17CSs64

Module_I

ii:i?':,lt'.',:,i'::ilffi;:I,';U:::s 
*'hen ra'Ircsp'iicc is,ror usecr with exampre exprain

\Vhat is implicit variable'l Explairi *'itli example how impricit variabres n." .t..tu..!18 
Nlarks)

write a c# prograrn to fincl srr,r' cliffcrcncc. prciluct anrr quotic,t of trvo ,rorfTm}lLrslng expression bodied ,rethod' In Main( ; rneihocl read 2 nu',rb"., fr-orl the usirs ana printresults on rhe screen after calling ,u,rr1l, a'iif.r";r;;a;;;"ar.,f ) and clr,roticur( ) merhod.
(07 Marks)

OR

:HT?iil ';:J];lJ:trAttt irott t' cnrtr.l the accessibiriry, orrnembers by using the public
(06 NIarks)Explain tl'itlr an exanlplc hotl'to create a.nulticlimensioual arr-av. Distinguish hou, jaggeclarrays are better than nrtrrticrinrensiolrar arrays rvith exanrple. 

'rriu-v ' urJLrrrBLrrbrr 
"t1ur 

rru.ur.;IllLrstrate u,ith near diagrarn u hat is boxing anci r_utboxing. (06},Iarks)

oo
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o,
6
tr

Tu
5o

--"c *
<=

3-.t
.rt-

Fi
-ao
o>
a*
:9
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!)=
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-Oo
r'u

C:

C-;

OG

aa
-"N,,,
uE5ro.--
.,c

=>

"o;
__l

.)
c
Z
=
a
c-

a.

b.

OR

,r List and exprain different binary operators avairabre in C#.b' Explain *'ith exampre checkc'd oni ur.h..keri staternent. (07 Nlarks)
c. Devetop a c# progranr *,irh rrerhocr ,.r;J;;;N";;,,.'ir, aav). rvhicrr accepts a#rrffi,J:las parameter and returns clav narne lnlondav, fu.rOoy, Weclnesclay, Th,rsAay. Fdday,Saturday and Sunclay) as tet,,.,', vaiue. Method thro*. rn exceptio, if day 

',alue 
is less than

,1.il.0r*,T:';*3:.' 
prograrn shourd arso contain 'u"ir1|'";*in"o-.,inlln ai.pruy, aoy

(09 N,Iarks)

Moclule-2

a' Define encapsrilation' Explairl the purpose of encapsulation w-ith an example. (05 ilIarks)b' what is a constrllctor? Explain the,recessity of constructor. write a program to cremonstratethe constructor overload in g.c Exptain the differences beirveen a structure and crass r.vith exarnpre. [;lffi:[]

a.

b.

I of2
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5a.
b.

17C5564
Nlodule-3

Differentiate betr,veen oprional parameters and params array. (04 N'Iarks)

Explain how to control methodhiding and overridingby using the nel, virtual and override

keyr,vords with example. 1 :-.-- 
(10 N'larks)

Demonstrate i,vith an example program the concept of dyrlarlic polymorphism' (06 Nlarks)

OR

Dcfinc itttcrlace list out tlie irttcrlacc rcstt'ietion' (05 N'Iarks)

w.it". 
'rogram 

rvitl-r a class niimed'Box'rvith data nren-ibers Icngtlr. breadth and l-reight

and a constructor to ir-ritialize clata tlenbers, t'oit-lt-ne( ) metirod to calcr'rlate volume (length *

breadth * height). Create another "lass cailccl "tsoxWeight" dcrivccl -fiom'"Box" class'

,.BoxWeight,, 1lass contains er data rlerlber tveight and t\r'O rlcthod : col'lstructor al.)d

Dirylayw-eightl ) to initialize ancl to clisplay ri,eight respecttvely. Last ciass named "Demo''

shoulC contiin Nlain( ) mcthod rvhic.h clcatcs object a,cl display data on t6e screen'
(1U NIarks)

List the steps fblio1vcd by garbage collcctor to de-allocate utrreachabie objects' (05 llarks)

Nlodule-4

Dcfine propcrties. Explain horv to create and usc propcrtics 1o proYicle controlled access to

data in u, oU1.tt u'ith example. . , 
(06 Nlal*s)

What are th! problems ut,ith the object tvpe'l Hou/ call yoll solve these problerns usrng

generic class with example? Otl Nlarks)

Explain how to cl'eate automatic properties' (06 r'Iarks)

OR

a. Define an indexer. List and explain set of operators provided by a C# that can be use c1 ttr

access al-icl manipulate bits in a irrt. (10 Nlarks)

b. What is generic methocl? tmplement a generic method which is independent of the type of

data on which it opcrates to swap trvo clata. In Main( ) nrethod display tlie value of clata

before sl'apping and after slvapping. Demonstrate prograrn fbr 'char' and int type valLtes.
(10 N'larks)

N'Iodule-5

a. Defile a sirnple iterator. Explain hor,v to define a simplc enllnlerator that catt be uscd ro

iterate over the elelrents in a collection. (08 }larks)

b. Explain hor.v to handle an event by using a clele-eate' ({}7 Nlarks)

c. List the r-ules that operators implernented autorratically fall into a \i'ell-clelined fiatl-tcr'r'ork it-t

6a.
b.

a.

b.

c#.

OR

10 a. Define LangLtage Integrated Query(LINQ)
collcctior-r u,ith exatnple.

b. Write a C# trrrograt-tl that adds arrd subtracts
,+^- tl-^,--,-.',^.-1, ',- a'ii

it)5 NIarks)

queries to examine contents ol etlLitrlerlrble
(10 \'larks)

tu,o instattce oJ- hours b1'' oi'e rloadinc I atttl
(l{) trlarks)


